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vl semester B.com. Examination, Augususeptember 2023

(CBCS) (2022 - 23 and Onwards) (Freshers)
COMMERCE

Paper - 6.5 : Accounting : Business Taxation

Time : 3 Hours Max. Marks : 70

SECTION _ A

1. Answer any five of the following sub-questions. Each sub-question carries
two marks.
a) What is Minimum Alternative Tax ?
b) Mention any two advantages of limited liability partnership.

(5x2=10)

c) Expand the terms CBIC and BCD.
d) Define partnership.
e) What is customs duty ?
f) What is E-filing ?

g) What is double taxation ?

SECTION - B

Answer any three from the following. Each question carries five marks.

2. What are the various types of customs duty ?

(3x5=15)

3. A, B and C are partners sharing profits and losses equally carrying on the
business. The firm's net profit is t 15,00,000.
a) SalarytoA={ 1,50,000, B={ 1,00,000 and C ={ 2,OO,OOO.

b) Commission to A = t 50,000, B = t 4O,OOO and C = { 60,000. Calculate
remuneration allowable u/s 40(b).

4. Mr. Das has estimatpp the following incomes for the financial year 2021 - 22.
a) Income from house property { 75,000.
b) Income from profession t 7,07,500.
c) Dividend from Archita Limited t 10,000.

Calculate the amount of advance tax payable in various instalments during
the financial year 2021 - 22.

5. A block of assets consists of 5 machines. The WDV of machinery as on 1-4-2021
is t 1,80,000, rate of depreciation is 15Y". A new machine costing t 1,60,000
was acquired on May 2021 but actually put to use only on fi-10-2021. Two
old machines are sold for T 3,20,000 in the year 2021 - 22. Determine the
amount of depreciation for the assessment year 2022 - 29. p.r.o.

I
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6. State whether the following are admissible or inadmissible expenses under
the provisions of lncome Tax Act.

a) Discount allowed.
b) Annual listing fees paid towards stock exchange by a company.

c) LIC premium on director and his family member's life.

d) Payment of licence fee for obtaining franchisee.

e) Depreciation of T 40,000 is debited to Profit and Loss account of Sri Ganesh-' 
Temple which was constructed inside the factory premises for the benefit of

employees of the company'

SECTION _ C

Answer any three from the following. Each question carries twelve marks. (3x12=36)

7. An importer has imported a machine from USA at FOB cost of 20000$. Other
details are as follows. Find out the customs duty.

. Freight from USA to lndian port 1000$

. lnsurance was paid to insurer in lndia T 8,000

. Design and development charges of 3000$ were paid to consultancy firm
in USA

. The importer also spent an amount of t 50,000 in lndia for development
work connected with the machinery

. { 15,OOO were spent in transporting the machinery from lndian port to the
factory of imPorter

. Rate of exchange as announced by RBI was 1$ = { 80.75, Rate of exchange
as announcedby CBIC by notific-ation 1$ = t 80.70, Rate at which bank
recovered the amount from importer 1$ = t 80'35

. Foreign exporter has an agent in lndia. Commission is payable to the agent
in lndia @ 5"/* ol FOB Price

. Custom duty payable was 1O%, SWS as applicable and IGST 12"/o.

8. The following is the Profit and'Loss account of XYZ firm. Calculate taxable
income and tax liability of the partnership firm.

Profit and Loss Account for the year ended 31"t March 2022

Remunerations to Partners

X = 25,000

Y = 30,000,

Z = 40,000 95,000

Sales 5,00,000

lncome from house ProPertY 50,000

.;
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lnterest on capital @ 14%
X = 14,000
Y = 21,000
z - 7,000 42,OOO

Expenses of other heads

6,000
4,07,000

5,50,000 5,50,000
9' From the following details, compute TDS amount of each transaction.

a) Winning from lottery T 1,OO,O0O.
b) Dividend from listed company t S0,OOO.

".1 
y. Sanju, agent of Lrc earned a commission of r 2o,ooo.

d) Rent paid on building T 4g,0OO per month.
e) LIC amount paid to the policy holder by a company on maturity { 4,oo,ooo.f) lnterest on bank deposit t 2O,OOO.
g) p',xffra- of premature employee provident fund T 53,ooo without furnishing

h) Winning from horse race t g,O0O.

i) Compensation for acquisition of land T 2,60,000.
j) Payment to an individual contractor whose total payment during the financialyearist1,S0,000. ' r -.

10' Compute total income of Mrudula Limited for the previous year 2021 - 22from the following profit and Loss Account.

lncome

Net Profit

TSalaries 2S,O0O Gross profit
Bonus from Governrpnt 25,ooo tnterest from Govt. securities
Postage and stationery 1S,OOO STCG
General expenses 1O,OOODepreciation 12,SOO
lncome tax 2S,OOO
Provision for income tax 1,OO,OOO
Net Profit 50,OOO

2,62,500
Additional lnformation :

t
2,50,000

5,000
7,500

2,62,5O0

cB - 277

a) The amount of depreciation admissible under the lncome Tax Act is t 7,s00.b) General expenses includes { 2,500 for advertising, t 1,000 for charitabledonation, t 1,500 paid for exchanging oto 
""iior 

new one, { 2,500 for repairs.
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11. The following is the information of Tanush and Company for the previous
year 2021 - 22.

Cost of goods sold 20,00,000 Sales 28,00,000

STT of LTCG 6,000 LTCG u/s 10(38) 3,00,000

Depreciation 1,70,000 lnterest on Govt. Securlties 30,000

Proposed dividend 2,60,000

lncome tax '1,20,000

Net Profit 5,74,040
31,30,000 31,30,000

Additional lnformation :

a) Depreciation allowable under the lncome Tax Act is { 1,00,000.
b) Brought forward loss as per books of accounts is t 2,50,000.
c) Brought forward depreciation as per books of accounts t 60,000.
d) Brought forward unabsorbed depreciation as per lncome Tax t 1,10,000.

Calculate:
a) Total income of the company.
b) Book profit of the company as per Section 1 15 JB.

c) Tax liability.

,, SECTION - D

Answer any one of the following question. Each question carries nine marks. (1i9=9)

12. Explain any three methods of valuation of assessable value for customs.

OR

Explain any three [ypes of companies.

d{d eldoQ

'Cqnrl - a

1. ESnd od>{;de odr erud €,d4ii9ri erudol. {,0 erud €,d4ob addr eoddsf&".
dooOd.:dd. (5x2=10)

a) dC{ doinroJ: dorl eodded: ?

b) :rea:d do#rrood ilre-DerDo8o$ o3:adde add: {,o3oeadd$q e,r.)g-,"31iJ.

c) CBIC d:d: BCD iddsdi Dio&.

d) aau:o"'oodC:d: dar&ia, D&.
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e) ddatr-r xboE.roddeab ?

f) e-doonr aoddeab ?

g) duer dori aoddeab ?
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dsnddilqod obgoaddo utrJoddr erudo&. dg d-d*oi, oab epoErrgabo dooa6gd.
2. aed oeaodc qd* xbodrlsb oJ>ddt r
3' a, E d$dl $ aaeDcrrDdcb enql atil q$1yq dd>daan aaraadddledrbxbgqo. ioio$ e*s crDqJ i r s]oo,obo.

a) a rlioug=t 1,SO,OOO, E=T 1,OO,OOO a$eb &={ 2,OO,OO0.
b) a = t s0,000, a) = { 40,000 6rrd: I = { oo,o6o ri eroioed u/s a0@)erd.:a$Biud>aad io gnddoj:dlJ*J, O #a.

4' $e enx6 edcb 202'r - 22 d qrQrE ddrdo- * d$rnd uoaoi:dd1 cocrod:r6d.a) af:d er$ou:od ereroo$ { 7S,OOO.
b) ddgo0lod etoao$ { 7,O7,SOO.
c) ereiroa O.Ire,Sar&od oqrood T 1O,OO0.

2021 - 22 d dearoxb ddrdo- aod doebrlgo- aad,iajerod dpodd doriot)dogdq e{oaa.

s' {Q'rs e^,ocrr 

Tir-T:g*q z-$rrooad .1-4-2o21dod o3:odgedddeairs wDV{ 1 ,80,000 etAd. Bddp ddd 15% erAd. t 1

ai: e, 2 02 1 d o d; o.rde e dd a,r do e,en our ac e* a a 

6j 

;:'JP[ -Ti #'r:tsag ugienos:eb. 2021- 22 d0_ad6 dso$ o3:o$rrgd:nT 3,20,000 dodnoauldndennd ' 2022- 23 dfpeddDdd ddrEo rdde {,ffieadQ .firor.
6. ererro$ dori roos:do$ Ouoddit* cao$o_Egnddii$b 

leooadr erdan
leuooadrde.r_d dalfluo ndob e o o a^::6laq Oea.
a) oolnorreoJrq etd:d:EBennd.
b) dod&obod;n*d adzseosrr adexrd a&rd dt^rebeddst.
c) Oderdd.t, rrre erdd dce^loud rdBdd aeddd abeod aer,& .1,eero$0.d) trgdo?"Aso$q ddo3':er: ddaodn d:e,ro a:ade.
e) dodooJc wdorendg es$droeuaofl uoanrdo$ uddeado_oa:ixod 

9e rr*igdedmadd enqJ asQ d{d anart { 4o,oo0 Bdd90$d}'arru^r dndennd.

(3x5=15)
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azprt - I

dsndd)rleod oJnd@ddo d:od*oeroqotu' e,'g 
-o,d4oiD dqdd'] erodrlsd:o 

(3x12=36)

dooadoQd'

7. bD,,, eldcdcoaddc USA &od 2oo0o$ d FoB ddul?: osJod;ddc". udcdc

dn-Eo o a-S qdd add,rgr!, J* nt oa*. dr;d{ nc oiaa'o a oa' b a o*o'

. USA OoJ*Oueo3': uodori 1000$ 
ncsienhd.

: RT:si f:rffiH:X.fri s,#1I" :? T"$' 
aadtsn en nd

oerd)d)-oood:odq'edtJ'ietoarrxla*r'rluoaoa:o'aj'a*l'ou'rrteriDR

. n:XsLu.'Sii*5,*XI 
*3?3; d:ode edddeoilsdc" ranioc

. H? :-,1o-flH$1ff:S i s = . *{? :i,ffiH ***- 
cBrc soea:'rd

a&acoc: dd 1$ =' 'o''6' ""* 
gD'o6" ;;;;ood doQddr"'$dsdoDd)

1$ = t 80'35'

. ades dQoaddr tpdddo-ado1'ldooooaod' 
FoB ?'ie'jo$ 5% dd>' dD"n66

. *gigf:r551-Tfit:,$,Te,{od:mi$qd 
drq rcsr 1rh'

8. ddndd) XYZ nofSodr 3ti a:Q d-'q*d T]cnod' 
aaer:oaodob nof5o$ doTtod)

eroaoSr ;a; gurfla"gnao8 od:d-", 6ro;,od drDa'

31 de dnztrr 2Ezzt*flodflood ddrd end SQ d{d eDd

aae'poadorl iozpddrt$ dnoaos 5'oo'000

v - 25,ooo 
-td el&ood eroaodc 50'000

n-
Y = 30,000 {i -- ^AA
Z = 40'000 95'000

uodaasd d:eod ua* @ 14a/o ;

edd dlsDr{d d?^*'t$)

eroaod)

&dd$ erad

X = 14,000

Y = 21,000

/ = 7,000
42,000

6,000

4,07,000

5,50,000
5,50,000
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9. Egnd eddrleod, 6g dEoaawd TDS d,ogdq e5ay,od dDa.a) eD[,3oobod T 1,oo,ooo d*ld.sr.
b) dqdDGd dod&o9rod *qooU t SO,OOO.
c) 9e Boz;J, LIC o$ adoe^f T 2O,OOO d.}:dd ilg,Rrcrrd.
d) d[^rdd abeeJ Sorrgri { 4g,ooo zxoari aad8senhd.
e) T 4'00,ooo aba*,Ddot^3o$o-dodoodr: moloadori aadg:rd Lrc dod.f) zUOroA" deded { 20,OOO abeod UG. 

-" wvwv*^, L^\' c i
g) pAN e'dflBd eraood wdoren d"a 0Q T 53,Ooo &oddotudcr:.h) $&d t"ulaod riq.r, t a,6oo.
i) do :D6eeddr doaod t 2,60,000.
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i) deoaad ddrdo" s,€^b"raDd.g r 1,50,000 sflcbd {o$gd rb,riaadori aodg.
10: * Egnd eDd abq d*d andoo:od &ood ddr r

?^,E^Dqi uoaoi:dd1 eirooz.,d dDa. 
2021 - 22 la$ruben oaJescs'd

' Boug

.BaordOod aloednf

eroaS d:eb eje$d

naa$!,dst>

:odnd, dqf$,
Bdde

eroao$ dori

eraao$ doriri 0uodd
0d9 enqJ

de"$,sdo dra6d :

L8* ,rqJ

Baoro qJqi,drleod ua
STCG

t
25,000

25,000
I.

15,000

10,000

12,500

T

2,50,000

5,000

7,500

25,000

1,00,000

50,000

2,62,5O0

, 2162,500

a) uoao$ dOri aomtr?rrJran.l,r -

' I*H ss*#fi| :-,;fi il*;::? TIT; ds.$ -dq
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1 1. &ood ddr 2021 - 22 d ddb66 d:eb dod0o$ dDbeodD €r dSndo8d.

dncnooaad Bd&rl9 aie, 20,00,000 dnoot^l 28,00,000

LTCG d STT 6,000 LTCG u/s 10(38) 3,00,000

,dde 1,70,000 Baoro dd,drl$ d:eod uq 30,000

dead engrood 2,60,000

soaod: 6ori 1,20,000

O{$ enqJ 5,74,000

31,30,000 31,30,000

da$dO droEe.g :
?J

a) uaaolr dOri aoourdo$ erao$O-edrdc9Bud;oad frddg { 1,00,000 ernd.

b) andrlg dddrlg drod T 2,50,000 d{ddtr ddennd.

c) t 60,000 endrlg d)ddri$ 6ad nddeo$dtr dr:od8o ddond.

d) uoaod: dori T 1 ,1 O,OO0 6rod beodosp Bddeo$$4 drodt ddenhd.

dodrEoBoS:o:

a) dod0ob bmo, etoaod>.

b) itdc 115 JB dad dodOo$ d{d en6.

c) dori dodnaod

*; a?goil - a

ESnd oingoaddo e.od> d{rl en{otu. ge dd.oira.oudr erodzl$dl dooOddd. (1x9=9)
i

12. dndfrlgrnn dJDe.rrdndd dndudlaad dJae,rrd dPe,:rdnddd oJndde &rod)

aqadrfgSo ado:r.

cCa'a

o1>dde il.rod: oe8o$ dodezf$$" &dotu.


